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1. XU
g H g |xes = Al d83 1,524
ZAISE | & SIZIHE | A5l AL A -5822 ESEDN; 2013.05.07
IE=a=t1 DAIFSNE=4 MW= olg2 et SHE2| 424 WESS=DN; 2013.05.07
2. WA 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFuU/m¢ | C| 2 Z 2 il E(Dichloromethane) 0.020I5t| & | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O € Bl (Ethylbenzene) 0.30/lct | EZZ& | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
EEYG) 1505t [ 0.19 | mg/ | 1.1-CI12220€8 (1.1-D.C.E) | 0.030l5t| 2= [ mg/L
B 2 (As) 0.010I5t| &% | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 23.0 mg/L
= 2 (Hg) 0.001 0I5t 23 mg/L UM EAH S 10 Ol ot 1.90 mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 2 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
AD2LI0FEE A (NH; - N) 050/t | EdE | mg/L | #* 2l (Cu) 1 0lat =dE | mg/L
A E A (NO; - N) 10 0I5t 1.5 mg/L | % & (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
g = (B) 1.00/5l | 22& | mg/L | 220125 (pH) 58 ~85| 7.1 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 M E (THMs) 0.1015F | 0.039 | mg/L | 24012 250 013} 17 mg/L
=2Z Z X E (Chloroform) 0.08 0IGt| 0.019 mg/L | SE&E= (R.E) 500 0|5t 102 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | EHE | mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.05 0|5t| 0.010 mg/L
1,2-CIEZ2R-3-22Z2D20 0.003 O|Gt| EHE mg/L & & (Turbidity) 0.5 0|5t 0.02 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|5t | E&E mg/L | 40|12 200 0l ot 8 mg/L
ot Ht & (Carbaryl) 0.07 0lct | S HE mg/L | 2F0Is (Al) 0.2 0lct | EZZ& | mg/L
1.1.1-ER2I2220E(1.1.1-TCE) | 0.1 05t | 225 | mg/L | Ega 0~40 ]| 030 [ mg/L
HEeI 22208l (PCE) 0.01 0lct| SHE mg/L | ECIZZZ20MELIEE (TCAN) [0.004 0|5t 22Z | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0|5t | SHE mg/L | EZ0tAIENAIE (HAA) 0.10I5t | 8% [ mg/L
22 20t0IEdI0IE (CHR) 0.03 0I5t| 23 mg/L S22 2220 E (BDCM) 0.03 0I5t| 0.013 mg/L
CISZ220I0tMELIEE (DBAN) 0.1 013t [ 0.0261 | mg/L CIEZ222Z 20 E (DBCM) 0.1 0|5t 0.007 mg/L
CI2220INIELIEE (DCAN) 0.09 0lct| SHE mg/L | 1,4-CH0| =S4t 0.050I5t | 2&8& | mg/L
o & S=g FEIEN AHE
2 H & g 5
]l i
2.
ST AIAGHE A BHE
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1. XU
g H g |xes = Al d83 1,527
ZAISE | & SIZIHE | A5l AL A -5822 ESEDN; 2013.05.07
IE=a=t1 DAIFSNE=4 M oidz sXH 552 403 WESS=DN; 2013.05.07
2. WA 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFuU/m¢ | C| 2 Z 2 il E(Dichloromethane) 0.020I5t| & | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O € Bl (Ethylbenzene) 0.30/lct | EZZ& | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
2 2 (F) 150/6t | €8& | mg/L | 1.1-CI22=2 0 €8l (1.1-D.C.E) | 0.03 0l5t| S|HE | mg/L
B 2 (As) 0.010I5t| &% | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 20.0 mg/L
%= 2 (Hg) 0.001 0|5l A& | mg/L | AL EAHIS 10 05t 1.45 mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
AD2LI0FEE A (NH; - N) 050/t | EdE | mg/L | #* 2l (Cu) 1 0lat =dE | mg/L
HASAE A (NO; - N) 10 0I5t 1.5 mg/L | % & (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
g = (B) 1.00/5l | 22& | mg/L | 220125 (pH) 58 ~85| 7.0 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 M E (THMs) 0.1015F | 0.034 | mg/L | 24012 250 013} 21 mg/L
22 Z X E (Chloroform) 0.08 0|5t| 0.016 mg/L | SE&E= (R.E) 500 0l Gt 48 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | EHE | mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &= | mg/L
1,2-CIEZ2R-3-22Z2D20 0.003 0I5t 23 mg/L & & (Turbidity) 0.5 0|5t 0.02 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0I=2 200 0l ot 7 mg/L
ot Ht & (Carbaryl) 0.070lct| EHE | mg/L | 2=F0Is (Al) 0.2 0lct | EZZ& | mg/L
1.1.1-E2I22 20l EH(1.1.1-TCE) 0.1 0|5t =dE mg/L HE2HEA 0~4.0 0.40 mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0|5t Z&& | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0ot | E&E | mg/L | E20LMEUHIAIE (HAA) 0.10I5t | 8% [ mg/L
22 20t0IEdI0IE (CHR) 0.03 0IGt| 0.0041 | mg/L S22 2220 E (BDCM) 0.03 0IGt| 0.012 mg/L
CISZ220I0tMELIEE (DBAN) 0.1 013t [ 0.0247 | mg/L CIEZ222Z 20 E (DBCM) 0.1 0|5t 0.006 mg/L
CI2220INIELIEE (DCAN) 0.09 0|5t | 0.0167 | mg/L | 1,4-CiO|St 0.050I5t | 2&8& | mg/L
ot & S=g FEIEN AHE
2 H & g 5
]l i
2.
ST AIAGHE A BHE
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1. XU
g H g |xes = Al d83 1,530
ZAISE | & SIZIHE | A5l AL A -5822 ESEDN; 2013.05.07
IE=a=t1 DAIFSNE=4 MW= lolg2 a3 2l 10-9 WESS=DN; 2013.05.07
2. WA 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFuU/m¢ | C| 2 Z 2 il E(Dichloromethane) 0.020I5t| & | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O € Bl (Ethylbenzene) 0.30/lct | EZZ& | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
2 2 (F) 150/6t | €8& | mg/L | 1.1-CI22=2 0 €8l (1.1-D.C.E) | 0.03 0l5t| S|HE | mg/L
B 2 (As) 0.010I5t| &% | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 70.0 mg/L
= 2 (Hg) 0.001 0|5l A& | mg/L | AL EAHIS 10 05t 2.40 mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
AD2LI0FEE A (NH; - N) 050/t | EdE | mg/L | #* 2l (Cu) 1 0lat =dE | mg/L
HASAE A (NO; - N) 10 0I5t 1.9 mg/L | % & (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
g = (B) 1.00/5l | 22& | mg/L | 220125 (pH) 58 ~85| 7.0 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot 0.027 mg/L
SEC|EZH E (THMS) 0.1 0lat | 0.072 mg/L | 40|12 250 0l ot 44 mg/L
=2Z Z X E (Chloroform) 0.08 0IGt| 0.032 mg/L | SE&E= (R.E) 500 0|5t 156 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | EHE | mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &= | mg/L
1,2-CIEZ2R-3-22Z2D20 0.003 0I5t 23 mg/L & & (Turbidity) 0.5 0|5t 0.02 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0I=2 200 0l ot 22 mg/L
ot Ht & (Carbaryl) 0.070lct| EHE | mg/L | 2=F0Is (Al) 0.2 0lct | EZZ& | mg/L
1.1.1-E2I22 20l EH(1.1.1-TCE) 0.1 0|5t =dE mg/L HE2HEA 0~4.0 0.70 mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0|5t Z&& | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0ot | E&E | mg/L | E20LMEUHIAIE (HAA) 0.10I5t | 8% [ mg/L
22 20t0IEdI0IE (CHR) 0.03 0I5t| 23 mg/L S22 2220 E (BDCM) 0.03 0IGt| 0.024 mg/L
C1E 22010t HI ELIE 2 (DBAN) 0.1 0I5t | 0.0462 | mg/L | CIE2 22220/ (DBCM) 0.1 0I5t | 0.015 | mg/L
(22 20tHIELIE2 (DCAN) 0.09 03| 0.0334 | mg/L | 1,4-CiOI= A 0.050I5t | 22& | mg/L
ot & S=g FEIEN AHE
2 H & g 5
]l i
2.
ST AIAGHE A BHE
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